 Sternberg Search Task
1) a) Draw an idealized graph of reaction time data to illustrate a self-terminating search in the Sternberg task. Make sure to label the x-axis and the y-axis.

b) Draw a second graph of reaction time data to illustrate an exhaustive search in the Sternberg task.  

2) a) Name the independent variable/s (I.V.). For each independent variable, name its levels. 

I.V. ______________
Levels: _____  _____  _____ (add as needed)

I.V. _______________
Levels: _____  _____  _____ (add as needed)

- Are these variables within-subject or between-subjects?

- Should we consider ‘time displayed’ an independent variable?  In trying to answer, think of the following:

-  is ‘time displayed’ constant or variable?

-  how is ‘time displayed’ related to other variables
· Should we consider ‘delay between set and probe to be an independent variable? (why, why not?)

· Should we consider gender an independent variable? Why? Why not?

· Should we consider whether subject’s b-day is in an even or odd date? Why not?
 Performance in the Sternberg search task can be expressed by the following function  Reaction Time = a + b x,
 in which 

a  is the RT for processes other than the memory search 

b is the slope of the memory search, and 

x is the number of items in the initial display. 

Imagine that we now increase the perceptual difficulty of the task by making the probe really dim. 
· Which parameter of the function (a, b, x), if any, would be modified by such a manipulation? Justify your answer
· Draw the new lines of the ‘dim’ conditions in the idealized graph 
· From your answer, would you conclude that ‘perceptual encoding of the probe’ stage needs to be completed before ‘retrieval from working memory’ starts? Or can they both overlap in time? (justify  your answer)
Imaging that now you re-run the experiment with a new group of subjects, but this time you show 90% of trials in which the probe does not match the memory set. What effect would this have in the RT for ‘match’ trials? What effect would this have for the ‘no-match’ trials? 
